mean # PXL hits vs eta mean # PXL Layers with measurement vs eta |

<pixel hits> [
w
[6)]
| T
-

7
=5
£
%
=
—
<pixel layers> [
T Iof 7T
LS
. =
=
.

w
w a1 D
T[T T T[T T T 7Tt
e
:_-'_"'
+

N
o

.....................................................................

o
|
:"
b
N

N H
II|IIIIII

15 .....................................................................

Ratio

0.955 0.955

—=— DQM_original_originalvector_1000evt
- —e— DQM_original_1000evt
mean # STRIP hits Vi ., pQM_fitted4_1000evt
—+— DQM fit nocpe 1000evt

<strip hits> [
H
T Ol T T

.

£

——
<strip layers>

(o]

.....................................................................

(o))
!
-‘33":
D
l_IIII|IIII|IIII|IIII|IIII|IIII|IIII
-

Ratio

———
—

o
Ratio
(=Y
[
s
——H—
e
— B o
§W
&L

0.955

0.955

[E—
—— g — L
o.......tF.-.......... R



	Contents
	Page 1


